## Notice for appointment of Regular/Rural Retail Outlets Dealerships

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica Lak	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/R ural	MS+HSD in Kls	SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	FS	Frontage	Depth	Area	Estimate d working capital requirem ent for operatio n of RO	Estimate d fund required for develop ment of infrastru cture at RO	Draw of Lots/Bidding		
1	HALDWANI WML, ON HALDWANI TO BAREILLY ROAD	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
2	BETWEEB KM STONE NO 140 AND 142, ON NH 09, TANAKPUR TO PITHORAGARH ROAD	CHAMPAWAT	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
3	LOHAGHAT, WML	CHAMPAWAT	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
4	WITHIN 4 KM FROM CENTRAL HOSPITAL, ON GAS GODOWN ROAD TO PANCHAYAT GHAR, HALDWANI	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
5	BETWEEN KM STONE NO 19 AND 22, ON NH 121 , KASHIPUR TO RAMNAGAR ROAD	NAINITAL	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
6	BETWEEN KM STONE NO 124 AND 127 ,ON NH 109, RANIKHET TO DWRAHAT ROAD	ALMORA	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
7	BETWEEN KM STONE NO. 85 AND 89, ON NH09, KHATIMA TO PITHORAGARH ROAD	CHAMPAWAT	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
8	BETWEEN KM STONE NO 17 AND 22, ON SH 41, RAMNAGAR TO KALADUNGI ROAD	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
9	WITHIN 3 KM FROM KATHGODAM CHAURAHA, TOWARDS NAINITAL, ON NH 109	NAINITAL	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
10	BETWEEN KM STONE NO. 50 AND 55, ON NH09 , KHATIMA TO PITHORAGARH ROAD	СНАМРАWAT	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
11	BETWEEN KALADHUNGI CHAURAHA AND TEEN PANI BYPASS CHAURAHA ,ON HALDWANI BAREILLY ROAD, HALDWANI	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
12	KHATIMA WML	UDHAM SINGH NAGAR	REGULAR	100	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
13	TRANSPORT NAGAR , ON ROAD CONNECTING SH 5 AND NH 109, HALDWANI	NAINITAL	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4

Hindustan Petroleum Corporation Limited proposes to appoint Retail Outlet dealers in the State of Uttarakhand, as per following details:

Sl. No.	Name Of Location	Revenue District	Туре of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange	e to be d by the nt (Rs in ths)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
14	BETWEEN KM STONE NO 36 AND 38, ON NH 121 , RAMNAGAR TO MOHAAN ROAD	NAINITAL	REGULAR	150	Open CC 1	сс	20	20	400	25	10	BIDDING	30	5
15	BETWEEN KM STONE NO 109 AND 111 ,ON NH 309A ,	BAGESHWAR	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
	BETWEEN DHANMILL TIRAHA AND DEVALCHAUR CHAURAHA, ON MUKHANI TO DEVALCHAUR ROAD, HALDWANI	NAINITAL	REGULAR	100	SC	CFS	30	30	900	25	0	DRAW OF LOTS	0	3
17	NAINITAL, WML	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
18	BETWEEN KM STONE NO 121 AND 128, ON NH 9, TANAKPUR TO PITHORAGARH ROAD	CHAMPAWAT	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
19	BETWEEN KM STONE 0 & 3, ON SH 64 , ON KHUTANI TO BHOWALI ROAD	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
20	BETWEEN KM STONE NO 10 AND 15, ON NH 121, RAMNAGAR TO KASHIPUR ROAD	NAINITAL	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
21	BETWEEN PANCHAKKI CHAURAHA AND CALTEX CHAURAHA, ON NAHAR WALI ROAD, IN KATHGODAM	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
22	VILLAGE CHHARAYAL SUYAL, BETWEEN ARYAMAAN VIKRAM BIRLA INSTITUTE AND PILIKOTHI CHAURAHA, ON RAKASIA NALA ROAD, HALDWANI	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
23	BETWEEN KM STONE NO 18 AND 20, ON SH 11, ON GARUR TO BAGESHWAR ROAD	BAGESHWAR	REGULAR	100	Open CC 2	DC	20	20	400	25	60	DRAW OF LOTS	15	5
24	BETWEEM TIKONIA AND CALTEX CHURAHA ON HALDWANI - NAINITAL ROAD	NAINITAL	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
25	BETWEEN KM STONE 43 AND 45, ON NH 109 , KHAIRNA TO QWARAB ROAD	NAINITAL	REGULAR	150	SC CC 1	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
26	BETWEEN KM STONE NO 3 AND 8 ON SH 13 , NAINITAL KALADHUNGI ROAD	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
27	BETWEEN KATGHARIYA CHAURAHA AND MUKHANI CHAURAHA ON RAMNAGAR ROAD, HALDWANI	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
28	BETWEEN KM STONE 42 AND 46, ON SH 12 , CHAUKHUTI TO MAASI ROAD	ALMORA	REGULAR	100	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
29	BETWEEN KM STONE 34 AND 36, ON SH 3 , BARRECHHINA TO GANAI GANGOLI ROAD	ALMORA	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
30	BETWEEN KM STONE NO 33 AND 36, ON SH 5, HALDWANI TO RUDRAPUR ROAD	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
31	BETWEEN KM STONE NO 18 AND 21, ON SH 40, KAPKOT TO PINDARI ROAD	BAGESHWAR	REGULAR	100	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
32	BHIMTAL TOWN AREA	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
33	BETWEEN KM STONE NO. 61 AND 63 , ON SH 61 , BELPARAO TO KOTABAGH ROAD	NAINITAL	REGULAR	100	Open	СС	20	20	400	25	10	BIDDING	30	5
34	BETWEEN DILARAM CHOWK AND PASSPORT OFFICE BUILDING,DEHRADUN CITY	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
35	BETWEEN KM STONE NO 30 AND 32, ON SH 62 , KHAIRNA TO BETALGHAT ROAD	NAINITAL	REGULAR	100	Open	СС	20	20	400	25	10	BIDDING	30	5
36	BETWEEN KM STONE NO 100 AND 103, ON NH 109, ALMORA TO RANIKHET ROAD	ALMORA	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
37	BETWEEN KM STONE 232 AND 234, ON LHS, ON NH 74, FROM PHULBATTA TO SIATRGANJ ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open CC 1	DC	20	20	400	25	75	DRAW OF LOTS	15	5
38	PITHORAGRH WML, ON DHARCHULA ROAD, NH 09	PITHORAGARH	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
39	UP TO 2 KM ON BOTH SIDES OF SANDHU DHABA, ON NH 734, KUNDA CHAURAHA TO JASPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
40	BETWEEN KM STONE NO. 26 AND 30, ON SH 38, ON BHOWALI MUKTESHWAR ROAD	NAINITAL	REGULAR	100	Open	CC	20	20	400	25	10	BIDDING	30	5

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•			Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
41	BETWEEN KM STONE NO 19 AND 21, ON RHS, ON NH125, FROM NANAKMATTA TO KHATIMA ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	сс	35	45	1575	25	10	BIDDING	30	5
42	BETWEEN INDIRA CHOWK RUDRAPUR AND UP BORDER, ON NH 87	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
43	BETWEEN RANA PRATAP CHOWK AND CHAITI CHAURAHA, KASHIPUR TO BAZPUR ROAD, KASHIPUR	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	30	30	900	25	0	DRAW OF LOTS	0	3
44	BETWEEN KM STONE NO. 206 AND 208, ON LHS, ON NH 734, FROM RUDRAPUR TO GADARPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	сс	35	45	1575	25	10	BIDDING	30	5
45	BETWEEN KM STONE NO 220 AND 225, ON LHS, ON NH 734, FROM RUDRAPUR TO KICCHA ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
46	BETWEEN KM STONE NO 187 AND 190, ON RHS, ON NH 734, FROM BAZPUR TO GADARPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
47	BETWEEN KM STONE NO. 0 AND 5, ON LHS, ON NH 125, FROM SITARGANJ TO KHATIMA ROAD	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
48	BETWEEN KM STONE 238 AND 240, ON RHS, ON NH 734, FROM PHULBATTA TO SITARGANJ ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	СС	60	60	3600	25	10	BIDDING	30	5
49	BETWEEN CHEEMA CHAURAHA AND CHAITI ROAD CROSSING, ON KUNDESWARI ROAD, JASPUR KHURD	UDHAM SINGH NAGAR	REGULAR	100	Open	DC	30	30	900	25	45	DRAW OF LOTS	15	5
50	KICHHA WML	UDHAM SINGH NAGAR	REGULAR	100	OBC PH	DC	20	20	400	25	45	DRAW OF LOTS	15	4
51	WITHIN 2 KM OF VILLAGE: DAHIYAKI ON EITHER SIDES, MANGLORE TO MUZZAFARNAGAR ROAD, ON NH 334 (OLD NH NO 58)	HARIDWAR	REGULAR	150	SC PH	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
52	BETWEEN KM STONE NO 216 AND 218, ON RHS, ON NH 734, FROM RUDRAPUR TO KICCHA ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
53	BETWEEN RANA PRATAP CROSSING AND KICCHA SUGAR MILL, IN KICCHA TOWN	UDHAM SINGH NAGAR	REGULAR	100	Open	СС	30	30	900	25	10	BIDDING	30	5
54	RUDRAPUR WML, NOT ON NH	UDHAM SINGH NAGAR	REGULAR	100	OBC	CC	20	20	400	25	10	BIDDING	30	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	-	arrange applica	e to be d by the nt (Rs in (hs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
55	BETWEEN KM STONE NO 185 AND 190, ON LHS, ON NH 734, FROM BAZPUR TO RUDRAPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	сс	35	45	1575	25	10	BIDDING	30	5
56	UPTO 2 KM FROM KHATIMA CHAURAHA, ON KHATIMA TO PURANPUR ROAD	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	30	30	900	25	0	DRAW OF LOTS	0	3
57	BETWEEN KM STONE NO 180 AND 185, ON RHS, ON NH 734, FROM BAZPUR TO RUDRAPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
58	KASHIPUR WML, NOT ON NH	UDHAM SINGH NAGAR	REGULAR	100	OBC	CC	20	20	400	25	10	BIDDING	30	4
59	UP TO 5 KM FROM RAILWAY CROSSING TOWARDS RAMNAGAR, ON NH 309, KASHIPUR TO RAMNAGAR ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
60	BETWEEN KM STONE NO 110 AND 115, ON NH 72, PAONTA SAHIB TO DHARMAWALA CHOWK ROAD	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
61	UPTO 1 KM ON EITHER SIDE FROM MAX HOSPITAL, ON RUDRAPUR-KARTARPUR ROAD	UDHAM SINGH NAGAR	REGULAR	100	OBC	DC	30	30	900	25	45	DRAW OF LOTS	15	4
62	BETWEEN KM STONE NO 148 AND 150, ON NH 734, JASPUR TO KASHIPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
63	BETWEEN KM STONE NO 5 AND 12, ON RHS, ON NH 125, FROM SITARGANJ TO KHATIMA ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
64	NEW KASHIPUR NH BYPASS ROAD, ON RHS, FROM BAZPUR TOWARDS JASPUR	UDHAM SINGH NAGAR	REGULAR	150	OBC	сс	35	45	1575	25	10	BIDDING	30	4
65	UP TO 2 KM ON BOTH SIDES OF PRITHVIRAJ CHOWK, JASPUR	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
66	BETWEEN KM STONE NO 13 AND 15, ON LHS , ON NH125, FROM NANAKMATHHA TO KHATIMA ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
67	BETWEEN KM STONE NO 246 AND 250, ON NH 734, KICHHA TO SITARGANJ ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
68	JASPUR WML	UDHAM SINGH NAGAR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange applica	te to be to by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
69	BETWEEN KM STONE NO 170 AND 173, ON NH 74 (NEW NH 734)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
70	KASHIPUR, ON NEW NH BYPASS ROAD, ON LHS, FROM BAZPUR TOWARDS JASPUR	UDHAM SINGH NAGAR	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
71	WITHIN 2 KM ON EITHER SIDES FROM GRD INTERNATIONAL SCHOOL, GADARPUR, ON NH 734	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
72	BETWEEN KM NO STONE 1 AND 5, ON SH 5	UDHAM SINGH NAGAR	REGULAR	100	Open	DC	30	30	900	25	60	DRAW OF LOTS	15	5
73	GADARPUR WML	UDHAM SINGH NAGAR	REGULAR	100	OBC CC 1	CC	20	20	400	25	10	BIDDING	30	4
74	BETWEEN KM STONE NO 226 AND 230, ON NH 734, FROM KICCHA TO SITARGANJ ROAD	UDHAM SINGH NAGAR	REGULAR	150	SC CC 1	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
75	BETWEEN TRANSPORT NAGAR PHASE 2 CHOWK AND CHAUDHARY CHARAN SINGH CHOWK, ON WEST CANAL ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open PH	сс	20	20	400	25	10	BIDDING	30	5
76	NANAKMATTA WML	UDHAM SINGH NAGAR	REGULAR	100	OBC	CC	20	20	400	25	10	BIDDING	30	4
77	JASPUR NEW NH BYPASS ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	CC	35	45	1575	25	10	BIDDING	30	5
	KHATIMA, ON NEW NH BYEPASS ROAD, NH 125	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
79 80	GADARPUR, ON NEW NH BYEPASS, NH 734 BETWEEN KM STONE NO 95 AND 100, ON SH 15,	UDHAM SINGH NAGAR	REGULAR	150 100	Open OBC	CC DC	35 20	45 20	1575 400	25 25	10 60	BIDDING DRAW OF LOTS	30 15	5
81	UTTARKASHI TO TILWARA ROAD BETWEEN KM STONE NO 33 AND 35, ON NH 125,		REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
82	KHATIMA TANAKPUR ROAD WITH IN 2 KM FROM KUNDA POLICE THANA, FROM KUNDA TO KASHIPUR ROAD, ON NH 734 (OLD NH 74)	UDHAM SINGH NAGAR UDHAM SINGH NAGAR	REGULAR	150	Open	сс	35	45	1575	25	10	BIDDING	30	5
83	WITHIN 02 KM FROM HOTEL SOFTEL PLAZA, ON GMS ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
84	DEHRADUN CITY, WML	DEHRADUN	REGULAR	150	OBC	CC	18	18	324	25	10	BIDDING	30	4
85	BETWEEN KM STONE NO 133 AND 135, ON NH 734 (OLD NH 74), AFZALGARH TO JASPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
86	BETWEEN MATAMANDIR CHOWK AND HARIDWAR BYPASS ROAD, ON LHS, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
87	VIKASNAGAR WML	DEHRADUN	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
88	BETWEEN KM STONE NO 182 AND 185, DEHRADUN HARIDWAR ROAD, NH72	DEHRADUN	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
89	WITHIN 03 KM FROM HOTEL RAGHUVIR PALACE JOSHIMATH, ON NH -58, CHAMOLI TO BADRINATH ROAD	CHAMOLI	REGULAR	150	Open	сс	20	20	400	25	10	BIDDING	30	5
90	BEWTEEN ONGC KOLAGARH CHOWK AND GOPAL PLAZA BUILDING, ON BALLUPUR CANAL ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	сс	20	20	400	25	10	BIDDING	30	5
91	BEWTEEN MUSSOURIE DIVERSION CHOWK AND RAJPUR VILLAGE, ON RAJPUR ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	OBC	сс	20	20	400	25	10	BIDDING	30	4
92	WITHIN 05 KM FROM KARGI CHOWK ON DEHRADUN- DOODHLEY ROAD	DEHRADUN	REGULAR	100	SC	CFS	30	30	900	25	0	DRAW OF LOTS	0	3
93	BETWEEN MATAMANDIR CHOWK AND HARIDWAR BYPASS ROAD ON RHS, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	сс	20	20	400	25	10	BIDDING	30	5
94	RAMNAGAR WML	NAINITAL	REGULAR	100	Open	СС	20	20	400	25	10	BIDDING	30	5
95	BETWEEN JOGIWALA CHOWK AND SANSKAR INTERNATION SCHOOL, DEHRADUN CITY	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
96	VIKASNAGAR, WML, ON NH-123, RHS, HERBATPUR TO CHAKRATA ROAD	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
97	FROM SAHARANPUR CHOWK TO ISBT, ON LHS, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	СС	20	20	400	25	10	BIDDING	30	5
98	FROM CONGRESS BHAWAN TO SILVER CITY MALL, ON LHS, ON RAJPUR ROAD,DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	СС	20	20	400	25	10	BIDDING	30	5

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
99	WITHIN 02 KM FROM SAHARANPUR CHOWK TOWARDS KANVLI ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
100	WITHIN 2 KM OF VILLAGE: DUMAIT, ON EITHER SIDES, ON NH 123(NEW NH 507)	UTTARKASHI	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
101	FROM KALINDI HOSPITAL TO BARWALA SHIV MANDIR, ON RHS, NH 507 (OLD NH NO 123)	DEHRADUN	REGULAR	150	Open	СС	20	20	400	25	10	BIDDING	30	5
102	BETWEEN KM STONE NO 4 AND 6, ON NH 134 (OLD NH 94), BARKOT TO DHARASU BEND	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
103	BETWEEN DOIWALA CHOWK AND BHANIYWALA CHOWK, ON NH 72	DEHRADUN	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
104	NEW TEHRI, WML , ON NH 58	TEHRI GARHWAL	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
105	WITHIN 2 KM FROM HERBETPUR CHOWK TOWARDS PONTA SHAIB, ON NH 72	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
106	WITHIN 02 KM FROM GARHI CANTT. POLICE STATION TOWARDS BIRPUR, ON GARI CANTT. ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
107	BETWEEN DOIWALA CHOWK AND LACHCHIWALA FLYOVER ON NH 72	DEHRADUN	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
108	BETWEEN MUSSOURIE DIVERSION CHOWK AND DIT UNIVERSITY MAIN GATE	DEHRADUN	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
109	WITHIN 2 KM OF VILLAGE : BARHWALA ON EITHER SIDES, ON NH 507 (OLD NH NO 123)	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
110	BETWEEN KM STONE NO 12 AND 14, ON LAMBGAON CHAMIYALA ROAD, SH-15	TEHRI GARHWAL	REGULAR	100	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
111	UPTO 02 KM FROM NEPALI FARM ,TOWARDS DEHRADUN , ON HARIDWAR - DEHRADUN ROAD , NH 72	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
112	MUSSOURIE WML	DEHRADUN	REGULAR	100	Open CC 1	CC	20	20	400	25	10	BIDDING	30	5
113	BETWEEN KM STONE NO 131 AND 135, ON DEHRADUN- SELAQUI ROAD , ON NH 72	DEHRADUN	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange applica Lak	(hs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding		12
114	BETWEEN KM STONE NO 34 AND 40, ON NH 119 (NEW NH 534 ), KOTDWAR TO SATPULI ROAD	PAURI GARHWAL	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
115	WITHIN 2 KM FROM BALA SUNDARI TEMPLE, ON CANAL ROAD, TOWARDS IT PARK, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	сс	20	20	400	25	10	BIDDING	30	5
116	BETWEEN KM STONE NO 1 AND 5, ON NH 107, RUDRAPRAYAG TO KUND ROAD	RUDRAPRAYAG	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
117	BEWTEEN NEW KM STONE NO 81 AND 83(OLD KM STONE NO 196 AND 198), ON NH 534 (OLD NH 119), KOTDWAR PAURI ROAD	PAURI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
118	WITHIN 5 KM FROM SAHASHTRADHARA CHOWK, ON RAIPUR ROAD	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
119	WITHIN 02 KM FROM WINDLASS RIVER VALLEY MAIN GATE, TOWARDS DOIWALA, ON NH72	DEHRADUN	REGULAR	150	Open	СС	35	45	1575	25	10	BIDDING	30	5
120	BETWEEN KMS 133 AND 137, ON LHS , NH-72, HARBATPUR TO DEHRADUN ROAD	DEHRADUN	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
121	WITHIN 03 KM FROM THE INTERSECTION OF NH 507 AND SH 20, ON NH 507, DUMET TO BADOWALA ROAD	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
122	WITHIN 3 KM FROM HERBETPUR CHOWK , ON NH 507, HERBETPUR TO VIKASNAGAR ROAD	DEHRADUN	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
123	WITHIN 2 KM ON EITHER SIDES OF VILLAGE CHINAYALISAUR, ON NH 34 ( NEW NH NO 108)	UTTARKASHI	REGULAR	150	SC CC 1	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
124	BETWEEN BALLIWALA CHOWK AND HOTEL KAMALA PALACE CHOWK, ON GMS ROAD	DEHRADUN	REGULAR	150	Open CC 2	DC	20	20	400	25	60	DRAW OF LOTS	15	5
125	BETWEEN KM STONE NO 12 KM AND 16 KM , ON NH 334 (OLD NH 58), HARIDWAR - RISHIKESH ROAD	DEHRADUN	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
126	BETWEEN FUNVALLEY PICKNIC SPOT AND BHANIYAWALA CHOWK, ON NH-72, HARIDWAR TO DEHRADUN ROAD	DEHRADUN	REGULAR	150	Open	сс	35	45	1575	25	10	BIDDING	30	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange applica Lak	(hs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
127	BETWEEN KARANPRAYAG AND SIMLI , ON NH 119 (OLD NH 87)	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
128	BETWEEN VILLAGE : MALETHA AND VILLAGE KIRTINAGAR , ON NH	TEHRI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
129	RISHIKESH TOWN AREA, WML	DEHRADUN	REGULAR	100	Open	CC	20	20	400	25	10	BIDDING	30	5
130	VIKASNAGAR, WML, ON LHS, HARBATPUR TO CHAKRATA ROAD	DEHRADUN	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
131	BETWEEN KM STONE NO 77 AND 81, ON NH 123(NEW NH NO 507), VIKASNAGAR TO BARKOT ROAD	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
132	BETWEEN KM STONE NO 15 AND 20, ON SH 17, MAINDRATH TO TYUNI ROAD	DEHRADUN	REGULAR	100	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
133	UTTARKASHI, WML	UTTARKASHI	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
134	WITHIN 2 KM OF VILLAGE : MATLI ON EITHER SIDES, ON NH 34 (NEW NH108), UTTARKASHI TO CHAMBA ROAD	UTTARKASHI	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
135	WITHIN 2 KM OF VILLAGE: KARANPRAYAG ON EITHER SIDES, ON NH 58, RISHIKESH TO BADRINATH ROAD	CHAMOLI	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
136	WITHIN 02 KM FROM KUANWALA LIQUOR FACTORY GATE, ON NH 72, DEHRADUN TO HARIDWAR ROAD	DEHRADUN	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
137	BETWEEN KARANPRAYAG AND GAUCHER , ON NH 58	CHAMOLI	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
138	UPTO 5 KM FROM HERBATPUR CHOWK TOWARDS DEHRADUN , ON NH-72, DEHARADUN HERBATPUR ROAD	DEHRADUN	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
139	WITHIN 2 KM OF VILLAGE : KANDARI ON EITHER SIDES, NH 507 ( OLD NH 123)	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
140	WITHIN 05 KM FROM SRINAGAR POST OFFICE , TOWARDS DEHRADUN, SRINAGAR, ON NH 58	PAURI GARHWAL	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding		12
141	BETWEEN RISPANAPUL AND ISBT, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	DC	35	45	1575	25	60	DRAW OF LOTS	15	5
142	BETWEEN SILVER CITY MALL AND MUSSOORIE DIVERSION CHOWK, ON RAJPUR ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	сс	20	20	400	25	10	BIDDING	30	5
143	WITHIN 2 KM OF VILLAGE: DANG ,ON EITHER SIDES, ON NH 119, ON KOTDWAR - PAURI ROAD	PAURI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
144	BETWEEN VILLAGE NAUGAON AND VILLAGE BARNIGAD, ON NH 123 (NEW NH 507)	UTTARKASHI	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
145	BETWEEN PRINCE CHOWK AND ARAGHAR CHOWK, DEHRADUN CITY	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
146	BETWEEN KM STONE NO 3 AND 6, ON RHS, ON NH 507(OLD NH NO 123), VIKASNAGAR TO KALSI ROAD	DEHRADUN	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
147	WITHIN 2 KM FROM PAURI BUS STAND, TOWARDS SRINAGAR, ON PAURI TO SRINAGAR ROAD, NH 119 (NEW NH 534)	PAURI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
148	BETWEEN BALLUPUR CHOWK AND ONGC KOLAGARH CHOWK, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
149	BEWTEEN PAM CITY AND KARGI CHOWK, ON KARGI CHOWK TO MAHANT INDRESH HOSPITAL ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	ST PH	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
150	UP TO 5 KMS FROM BARKOT BUS-STAND ON NH 123 (NEW NH 507), ON BARKOT TO NAOGAON ROAD	UTTARKASHI	REGULAR	150	OBC PH	DC	20	20	400	25	75	DRAW OF LOTS	15	4
151	BETWEEN UCO BANK MIYAWALA AND ORIENTAL BANK OF COMMERCE LOWER TUNWALA, ON TUNWALA ROAD	DEHRADUN	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
152	WITHIN 2 KM FROM RANIPOKHARI POLICE STATION, ON RISHIKESH TO BHANIYAWALA ROAD	DEHRADUN	REGULAR	100	Open	DC	30	30	900	25	60	DRAW OF LOTS	15	5

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	e to be d by the nt (Rs in ‹hs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
153	BETWEEN KM STONE NO 0 AND 5, ON SH-69, LAMBGAON TO NEW TEHRI ROAD	TEHRI GARHWAL	REGULAR	100	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
154	FROM DILARAM CHOWK TO PACIFIC MALL , ON RHS, RAJPUR ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
155	DEHRADUN WML, NOT ON NH	DEHRADUN	REGULAR	150	Open	CC	20	20	400	25	10	BIDDING	30	5
156	BETWEEN KARAMCHARI RAJYA BIMA YOJNA SHRAM CHIKITSA SEWAI AND B M MOTORS KOTHAL GATE, MUSSOORIE ROAD, DEHRADUN	DEHRADUN	REGULAR	100	Open	сс	20	20	400	25	10	BIDDING	30	5
157	WITHIN 02 KM FROM DOIWALA CHOWK NOT ON NH	DEHRADUN	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
158	BETWEEN KM STONE NO 100 AND 103, ON NH 34 (OLD NH 108), DHARASU TO UTTARKASHI ROAD	UTTARKASHI	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
159	BETWEEN KM STONE 117 AND 119, ON NH 34 (OLD NH 108), DHARASU TO UTTARKASHI ROAD	UTTARKASHI	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
160	WITHIN 2 KMS FROM UTTRAKHAND STATE BORDER, ON LEFT HAND SIDE WHILE GOING FROM PURKAZI TO ROORKEE, ON NH 334	HARIDWAR	REGULAR	150	Open	сс	35	45	1575	25	10	BIDDING	30	5
161	UPTO 2 KM FROM RAMPUR CHUNGI, ON RAMPUR CHUNGI TO MACHCHI MOHALLA ROAD, ROORKEE CITY	HARIDWAR	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
162	WITHIN 2 KM FROM INDIAN OIL BOTTLING PLANT, TOWARDS SHIVALIK NAGAR, ON SHIVALIK NAGAR TO BARRIER-6 ROAD, HARIDWAR CITY	HARIDWAR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
163	BETWEEM KM STONE 6 AND 10 , ON OLD NH-73, ON RHS, FROM ROOKEE TO CHUTMALPUR ROAD	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
164	LAKSAR WML	HARIDWAR	REGULAR	100	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
165	ROORKEE WML	HARIDWAR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
166	UPTO 2 KM FROM NEW KALIYAR CANAL BRIDGE, ON KALIYAR TO REHMATPUR ROAD, KALIYAR	HARIDWAR	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange applica	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
167	WITHIN 2 KM FROM LABOUR CHAURAHA, ON ASHOK MARG, ON RHS, FROM LABOUR CHAURAHA TOWARDS CHANDRASHEKHAR PUBLIC SCHOOL, ROORKEE CITY	HARIDWAR	REGULAR	100	sc	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
168	WITHIN 3 KM FROM CRYSTAL WORLD WATER PARK ON LHS, FROM HARIDWAR TOWARDS ROORKEE, ON NH 334	HARIDWAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
169	BETWEEN DOODADHARI CHOWK AND DEHRADUN DISTRICT BORDER, ON LHS, ON NH 58 ,TOWARDS RAIWALA	HARIDWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
170	UPTO 2 KM FROM KRISHI UTPADAN MANDI SAMITI TOWARDS CHHUTMALPUR, ON ROORKEE CHHUTMALPUR ROAD, ROORKEE	HARIDWAR	REGULAR	150	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
171	UPTO 5 KM FROM COER, ON ROORKEE NH 334 BYPASS, ON LHS, FROM COER TOWARDS MANGLOUR	HARIDWAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
172	WITHIN 2 KM FROM VILLAGE RAI AGAR, ON EITHER SIDES, NH 309 A	PITHORAGARH	REGULAR	150	SC CC 1	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
173	BETWEEN MILITARY HOSPITAL CROSSING AND RAMPUR CHUNGI TIRAHA, ROORKEE	HARIDWAR	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	4
174	WITHIN 1 KM FROM INCOME TAX OFFICE IN OLD INDUSTRIAL AREA, HARIDWAR CITY	HARIDWAR	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
175	BETWEEN KM STONE NO 30 AND 32, ON SH-26, LAKSAR-BALAWALI ROAD	HARIDWAR	REGULAR	100	Open PH	DC	30	30	900	25	60	DRAW OF LOTS	15	5
176	UPTO 3 KM FROM BAHARADRABAD CHOWK, ON SH- 68, BAHDRABAD TO DHANAURI ROAD	HARIDWAR	REGULAR	100	SC	CFS	30	30	900	25	0	DRAW OF LOTS	0	3
177	WITHIN 2 KM FROM SOLANI BRIDGE, ON NH 58 (NEW NH NO 334) , ROOKEE	HARIDWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
178	BETWEEN KM STONE 53 AND 55, ON NH 334 A, LAKSAR- KANKHAL ROAD	HARIDWAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange applicar Lak	(hs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
179	BETWEEN SHYAMPUR POLICE STATION AND UTTAR PRADESH BORDER , ON NH 74, HARIDWAR NAJIBABAD ROAD	HARIDWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
180	FROM MALVIYA CHOWK TO GANESH CHOWK, PURAWALI GANESHPUR, ROOKEE	HARIDWAR	REGULAR	100	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
181	BETWEEN BUDHDHIMATA AND DAKSH MANDIR, ON DAKSH MANDIR ROAD	HARIDWAR	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
182	UPTO 2 KM FROM MAIN GATE OF LAKSAR SUGAR MILL TOWARDS HARIDWAR, ON LAKSAR HARIDWAR ROAD, NH 334A	HARIDWAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
183	UPTO 5 KM FROM PAURI BUS STAND, ON SH 31	PAURI GARHWAL	REGULAR	100	Open	DC	30	30	900	25	60	DRAW OF LOTS	15	5
184	HARIDWAR WML, NOT ON NH	HARIDWAR	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
185	UPTO 4 KM FROM HPCL OIL DEPOT GATE, ON LANDHAURA LAKASAR ROAD, TOWARDS LAKSAR	HARIDWAR	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
186	BETWEEN MAHARANA PRATAP CHOWK AND NEW CRICKET STADIUM, ON RAIPUR THANO ROAD	DEHRADUN	REGULAR	100	OPEN	DC	20	20	400	25	45	DRAW OF LOTS	15	5
187	BETWEEN KM STONE NO 38 AND 40, ON SH 11, KOSI TO SOMESHWAR ROAD	ALMORA	REGULAR	100	Open CC 1	DC	20	20	400	25	60	DRAW OF LOTS	15	5
188	WITHIN 2 KM OF VILLAGE BANUSHA ON EITHER SIDES, ON NH 125, NANAKMATHTHA TO KHATIMA ROAD	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
189	BETWEEN KM STONE NO 0 TO 5 ,ON SH 52 ,JOSHIMATH-SIGHDHAR MOTOMARG	CHAMOLI	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
190	BETWEEN KM STONE NO. 86 AND 90 ,ON SH 29, JAULJIBI TO DHARCHULA ROAD	PITHORAGARH	REGULAR	100	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
191	CHAKTUNWALA, DEHRADUN CITY	DEHRADUN	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
192	BETWEEN TIMES SQUARE MALL AND KHARANGA SMARAK, ON SAHASTRADHARA ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	OPEN	сс	20	20	400	25	10	BIDDING	30	5

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *		arrange applica	e to be d by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
193	WITHIN 2 KM ON EITHER SIDES OF VILLAGE RAIWALA, ON NH 334 (OLD NH 58)	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
194	WITHIN 2 KM OF VILLAGE DOBATA ON EITHER SIDES, ON NH 123 (NEW NH 507)	UTTARKASHI	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
195	WITHIN 2 KM ON EITHER SIDES OF VILLAGE LAMBGAON, ON SH 15, LAMBGAON CHAMIYALA ROAD	TEHRI GARHWAL	REGULAR	100	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
196	RAMANGAR BYEPASS ROAD, KASHIPUR CITY	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	30	30	900	25	45	DRAW OF LOTS	15	5
197	WITHIN 2 KM ON EITHER SIDES OF VILLAGE TIPRI, ON SH 15, TEHRI TO GHANSHALI ROAD	TEHRI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	25	60	DRAW OF LOTS	15	5
198	WITHIN 2 KM OF VILLAGE CHOPADIYA ON EITHER SIDES, ON NH 58	TEHRI GARHWAL	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
199	BETWEEN KM STONE NO 48 AND 52, ON NH 121 (NEW NH 309), ON RAMNAGAR TO RANIKHET ROAD	NAINITAL	REGULAR	150	OBC	DC	20	20	400	25	75	DRAW OF LOTS	15	4
200	BETWEEN KM STONE NO 61 AND 65, NH 109, HALDWANI TO ALMORA ROAD	ALMORA	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
201	BETWEEN KM STONE NO 41 AND 46, ON SH 31, PAURI TO DEV PRAYAG ROAD	PAURI GARHWAL	REGULAR	100	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
202	BETWEEN PANCHAKKI CHAURAHA AND MUKHANI CHAURAHA, ON NAHAR COVERING ROAD, HALDWANI CITY	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
203	BETWEEN JUDGE FARM AND HIRA NAGAR MUKHANI CHAUARAHA, ON JOSHI COLONY ROAD, HALDWANI	NAINITAL	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
204	BETWEEN KM STONE NO 210 AND 215, ON NH 09, PITHORAGARH TO TAWA GHAT ROAD	PITHORAGARH	REGULAR	150	Open	DC	20	20	400	25	75	DRAW OF LOTS	15	5
205	RAMANAGAR TOWN AREA, NOT ON HIGHWAY	NAINITAL	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
206	LALKUAN TOWN AREA	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	DRAW OF LOTS	15	4
207	ALMORA WML	ALMORA	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *		arrange applica	te to be to by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
208	WITHIN 1 KM FROM HOTEL RADISSON BLU, TOWARDS ROSHANABAD, IN SIDCUL , HARIDWAR	HARIDWAR	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
209	BETWEEN KM STONE NO 15 AND 20, ON RHS, ON NH 73, FROM ROORKEE TOWARDS CHHUTMALPUR	HARIDWAR	REGULAR	150	Open	DC	35	45	1575	25	75	DRAW OF LOTS	15	5
210	BETWEEN KM STONE 175 AND 178, ON NH 58, ROORKEE	HARIDWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	DRAW OF LOTS	15	4
211	BETWEEN NATRAJ CHOWK RISHIKESH AND DSB INTERNATIONAL SCHOOL, ON LHS, FROM NATRAJ CHOWK TOWARDS DSB INTERNATIONAL SCHOOL, RISHIKESH	DEHRADUN	REGULAR	100	Open	DC	20	20	400	25	45	DRAW OF LOTS	15	5
212	BETWEEN KM STONE 10 AND 15, ON SH 5, GADARPUR DINESHPUR ROAD	UDHAM SINGH NAGAR	REGULAR	100	ST	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
213	DEHRADUN WML, ON SHIMLA BYEPASS ROAD	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	60	DRAW OF LOTS	15	4
214	RANIKHET TOWN AREA	ALMORA	REGULAR	100	Open CC 1	DC	20	20	400	25	45	DRAW OF LOTS	15	5
215	BETWEEN HOTEL SAFFRON LEAF AND KAMALA PALACE, NOT ON NH, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	DC	18	18	324	25	60	DRAW OF LOTS	15	5
216	SIDCUL RUDRAPUR	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	30	30	900	25	0	DRAW OF LOTS	0	3
217	ON EAST CANAL ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	OBC	CC	20	20	400	25	10	BIDDING	30	4
218	RACE COURSE MUNICPAL WARD AREA, DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
219	BETWEEN PAM CITY AND MAHANT INDRESH HOSPITAL MAIN GATE , DEHRADUN CITY	DEHRADUN	REGULAR	150	Open	DC	20	20	400	25	60	DRAW OF LOTS	15	5
220	BETWEEN RTO CHOWK AND LAMACHAUR CHAURAHA ON RAMNAGAR ROAD, HALDWANI	NAINITAL	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
221	VILLAGE : KAPKOT, ON KAPKOT TO KARMI ROAD, KAPKOT	BAGESHWAR	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
222	VILLAGE: HAIDAGAJJAR , GORAPARAO ROAD , TEHSIL HALDWANI	NAINITAL	RURAL	50	OBC	DC	20	20	400	12	30	DRAW OF LOTS	5	3

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	te to be to by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
223	VILLAGE: DEVALCHAUR ON PANCHAYAT GHAR TO MUKHANI ROAD, HALDWANI	NAINITAL	RURAL	50	SC	CFS	20	20	400	12	0	DRAW OF LOTS	0	2
224	VILLAGE : BAGWALI POKHAR, ON BINTA TO GAGAAS ROAD, DWARAHAT	ALMORA	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
225	VILLAGE: CHORPANI , TEHSIL RAMNAGAR	NAINITAL	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
226	VILLAGE: PANIYALI, TEHSIL HALDWANI	NAINITAL	RURAL	50	OBC	DC	20	20	400	12	30	DRAW OF LOTS	5	3
227	VILLAGE: JANGAL JOGITHER, ON BHAGCHURI- NANAKSAGAR ROAD, TEHSIL NANAKMATHTHA	UDHAM SINGH NAGAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
228	VILLAGE : MAULEKHAL, TEHSIL SULT	ALMORA	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
229	VILLAGE: KHERA, ON GAULAPAR TO CHORGALIA ROAD, HALDWANI	NAINITAL	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
230	VILLAGE: PREMPUR NAWAR , TEHSIL HALDWANI	NAINITAL	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
231	VILLAGE : GANGAPUR PATIA, TEHSIL: KICHHA	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
232	VILLAGE : MAJHOLA, TEHSIL KHATIMA	UDHAM SINGH NAGAR	RURAL	50	ST	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
233	VILLAGE :GINNI KHERA, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
234	VILLAGE KHERA LAKSHMIPUR, TEHSIL JASPUR	UDHAM SINGH NAGAR	RURAL	50	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
235	VILLAGE:SHAHGANJ, TEHSIL JASPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
236	VILLAGE: BELIJURI, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
237	UPTO 4 KM FROM NH 734 ON SULTANPUR PATTI - JAGARNATHPUR -BANAKHERA ROAD	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
238	VILLAGE : FULSUNGA, TEHSIL : RUDRAPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
239	VILLAGE: GARHI NEGI, TEHSIL JASPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
240	VILLAGE: CHAUND JASPUR, TEHSIL PRATAPNAGAR	TEHRI GARHWAL	RURAL	50	SC	CFS	20	20	400	12	0	DRAW OF LOTS	0	2
241	VILLAGE: BHOORA RANI, TEHSIL RUDRAPUR	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
242	VILLAGE : AMBIWALA, TEHSIL VIKASNAGAR	DEHRADUN	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
243	VILLAGE: SUDHDHOWALA, TEHSIL VIKASNAGAR	DEHRADUN	RURAL	50	Open CC 2	DC	20	20	400	12	30	DRAW OF LOTS	5	4
244	VILLAGE: RANJHAWALA, TEHSIL DEHRADUN	DEHRADUN	RURAL	50	OBC CC 1	DC	20	20	400	12	30	DRAW OF LOTS	5	3
245	VILLAGE-KHUSHALPUR, TEHSIL VIKASNAGAR	DEHRADUN	RURAL	50	SC CC 1	CFS	20	20	400	12	0	DRAW OF LOTS	0	2

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the site M.). *	•	arrange applica Lak	ihs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC CC 1/OBC EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
246	VILLAGE : MEHUWALA KHALSA, TEHSIL VIKASNAGAR	DEHRADUN	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
247	VILLAGE: KUNJA, TEHSIL VIKASNAGAR	DEHRADUN	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
248	VILLAGE: MEHUWALA, TEHSIL DEHRADUN	DEHRADUN	RURAL	50	OBC	DC	20	20	400	12	30	DRAW OF LOTS	5	3
249	VILLAGE: ATMALPUR BONGLA, TEHSIL -HARIDWAR	HARIDWAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
250	VILLAGE RAMNAGAR DANDA, TEHSIL DOIWALA	DEHRADUN	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
251	BETWEEN KM STONE NO 22 AND 24, ON SHIMLA BYEPASS ROAD	DEHRADUN	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
252	VILLAGE: KANDAL, TEHSIL DEHRADUN	DEHRADUN	RURAL	50	OBC	DC	20	20	400	12	30	DRAW OF LOTS	5	3
253	VILLAGE: DEVASTHAN, TEHSIL POKHRI	CHAMOLI	RURAL	50	Open	DC	20	20	400	12	30	DRAW OF LOTS	5	4
254	VILLAGE:SAIRA, TEHSIL GHAT	CHAMOLI	RURAL	50	ST	CFS	20	20	400	12	0	DRAW OF LOTS	0	2
255	VILLAGE : BAHADRABAD , DISTRICT ROAD	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
256	VILLAGE: RAIPUR, TEHSIL DEHRADUN	DEHRADUN	RURAL	50	OBC	DC	20	20	400	12	30	DRAW OF LOTS	5	3
257	VILLAGE: BAHADARPUR JAT, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
258	VILLAGE: MANSOORPUR URF KAPOORO, TEHSIL LAKSAR	HARIDWAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
259	VILLAGE: SARAI , TEHSIL HARIDWAR	HARIDWAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
260	VILLAGE: BHAKTANPUR-ABIDPUR URF IBRAHIMPUR, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
261	VILLAGE: JAINPUR JHANJHERI, TEHSIL ROORKEE	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
262	VILLAGE: SALEMPUR RAJPUTANA, TEHSIL -ROORKEE	HARIDWAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
263	VILLAGE: EKDILPUR, TEHSIL BHAGWANPUR	HARIDWAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
264	VILLAGE: RANSURA , TEHSIL ROORKEE	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
265	VILLAGE: SALEMPUR MEHDOOD-1, ON NAVODYA CHAUK TO HETMPUR ROAD, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
266	VILLAGE: SITAPUR MAJRA, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
267	VILLAGE: LAMAKHERA, TEHSIL NANAKMATHTHA	UDHAM SINGH NAGAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
268	VILLAGE: ITAWA, TEHSIL BAZPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	te to be to by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding		12
269	VILLAGE: MAHESHPURA, TEHSIL BAZPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
270	VILLAGE: SARA SARIYA, TEHSIL KHATIMA	UDHAM SINGH NAGAR	RURAL	50	OBC PH	DC	30	30	900	12	30	DRAW OF LOTS	5	3
271	VILLAGE: DHYANPUR, TEHSIL NANAKMATHTHA	UDHAM SINGH NAGAR	RURAL	50	SC PH	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
272	VILLAGE: BIDAURA, TEHSIL NANAKMATHTHA	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
273	VILLAGE :KISHANPUR, TEHSIL BAZPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
274	VILLAGE: KHAMIA BLOCK NO 2, TEHSIL KITCHHA	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
275	VILLAGE: LAKHANPUR, TEHSIL BAZPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
276	VILLAGE: DODDHLEY, TEHSIL DOIWALA	DEHRADUN	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
277	VILLAGE: DHAKIA GULABO, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
278	VILLAGE : SHIMLA BAHADUR, TEHSIL RUDRAPUR	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
279	VILLAGE-DEHSWALA, TEHSIL DOIWALA	DEHRADUN	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
280 281	VILLAGE: THATYUR, TEHSIL DHANAULTI VILLAGE: SHAHPUR MUSTAKAM, ON BHAGWANPUR CHUDIYALA ROAD, TEHSIL BHAGWANPUR	TEHRI GARHWAL HARIDWAR	RURAL	50 50	ST OBC	CFS DC	30 30	30 30	900 900	12	0 30	DRAW OF LOTS	0 5	2 3
282	VILLAGE: JAMALPUR KHURD, ON BHAHARADRABAD CHOWK TO SHIVALIK NAGAR ROAD, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
283	VILLAGE: DHANAURI, ON DHANAURI TELIWALA ROAD, TEHSIL ROORKEE	HARIDWAR	RURAL	50	Open CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	4
284	VILLAGE: BHOGPUR, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
285	VILLAGE: BADHERI RAJPUTANA, TEHSIL ROORKEE	HARIDWAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
286	VILLAGE: NARSAN KHURD, TEHSIL ROORKEE	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
287	VILLAGE : SUWAKHOLI, ON MDR	DEHRADUN	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4
288	VILLAGE: LAHBOLI ,TEHSIL-ROORKEE	HARIDWAR	RURAL	50	OBC	DC	30	30	900	12	30	DRAW OF LOTS	5	3
289	VILLAGE: IMLIKHERA DHARAMPUR, TEHSIL ROORKEE	HARIDWAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
290	VILLAGE MOUZA KOTWAL ALAMPUR, TEHSIL ROORKEE	HARIDWAR	RURAL	50	Open	DC	30	30	900	12	30	DRAW OF LOTS	5	4

Sl. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	te to be to by the nt (Rs in khs)	Mode of selection	Fixed Fee / Min bid amount ( Rs in Lakhs)	Security Deposit ( Rs in Lakhs)
1	2	3	4 Regular/R ural	5 MS+HSD in Kls	6 SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	7 CC/DC/C FS	Frontage	8 Depth	Area	9a Estimate d working capital requirem ent for operatio n of RO	9b Estimate d fund required for develop ment of infrastru cture at RO	10 Draw of Lots/Bidding	11	12
291	BHADRABAD TO LANDAURA, WITHIN 1 KM EITHER SIDE OF UTTRAKHAND POWER CORPN LTD SEHDEVPUR	HARIDWAR	RURAL	50	Open	сс	30	30	900	12	5	BIDDING	10	4
292	NANAUTA DEVBAND MANGLAUR MARG, BETWEEN SAGAR PULP & PAPER MILLS(LTD) AND GREEN HILLS GLOBAL ACADEMY	HARIDWAR	RURAL	50	Open	сс	30	30	900	12	5	BIDDING	10	4
293	VILLAGE: TELPURA, TEHSIL HARIDWAR	HARIDWAR	RURAL	50	OBC CC 1	DC	30	30	900	12	30	DRAW OF LOTS	5	3
294	VILLAGE: MEWAD KALAN, TEHSIL ROORKEE	HARIDWAR	RURAL	50	SC CC 1	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
295	BETWEEN KM STONE NO 0 AND 5, ON JASPUR NADEHI SUGAR MILL ROAD	UDHAM SINGH NAGAR	RURAL	50	Open PH	DC	30	30	900	12	30	DRAW OF LOTS	5	4
296	BETWEEN KM STONE NO 165 AND 170, ON SH 10, LOHAGHAT TO PATI ROAD	CHAMPAWAT	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
297	BETWEEN KM STONE NO 198 AND 204, ON NH 09, PITHORAGARH TO LOHAGHAT ROAD	PITHORAGARH	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
298	BETWEEN KM STONE NO 1 AND 5, ON SH 63 ,ON BHOWALI NAINITAL ROAD	NAINITAL	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
299	SITARGANJ WML	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
300	BAZPUR WML	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
301	BETWEEN KM STONE NO 161 AND 168, ON NH 734 (OLD NH 74), ON JASPUR TO KASHIPUR ROAD	UDHAM SINGH NAGAR	REGULAR	150	sc	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
302	BETWEEN KM STONE 128 AND 130 ON NH 72	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
303	BETWEEN SALIYAR AND NH 58, ON THE NEW ROORKEE SALIYAR BYPASS ROAD	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	25	0	DRAW OF LOTS	0	3
304	BETWEEN KM STONE NO 28 TO 30 SH20 , KALSI - CHAKRATA ROAD	DEHRADUN	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
305	JHABRERA, WML	HARIDWAR	REGULAR	100	SC	CFS	20	20	400	25	0	DRAW OF LOTS	0	3
306	VILLAGE KANIYA , TEHSIL RAMNAGR	NAINITAL	RURAL	50	SC	CFS	20	20	400	12	0	DRAW OF LOTS	0	2
307	VILLAGE : LAMBAKHERA, TEHSIL RUDRAPUR	UDHAM SINGH NAGAR	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2
308	VILLAGE: TIPARPUR, TEHSIL VIKASNAGAR	DEHRADUN	RURAL	50	SC	CFS	30	30	900	12	0	DRAW OF LOTS	0	2

SI. No.	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*		um Dimens a of the sit M.). *	•	arrange applica	e to be d by the nt (Rs in khs)	Mode of selection		Deposit (
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular/R ural	Kis	SC/SC CC 1/SC PH/ST/ST CC 1/ST PH/OBC/OBC CC 1/OBC PH/OPEN/OP EN CC 1/OPEN CC 2/OPEN PH	FS	Frontage	Depth	Area	d working capital requirem ent for	d fund required for develop ment of infrastru	Draw of Lots/Bidding		

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential

\* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.iocl.com/ www.petrolpumpdealerchayan.in ) and can be downloaded free of cost.